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Appendix E
Listing of the Disassembler

188 WINDOW 448,200,32,16

118 OPEN®Z2;scr_:CLOSE#Z

{20 KODE 4

138 CSITE 3.1

140 FRINT "4BGB,Disascesbler”

138 C8IIE 2,8

162 PRINT "&x1984,Alan,biles”

172 CSIIE 8,8

188 REPeat display

130 PRINT "Code,or,Data?, (C,or, 00"
288 REPeat ineode

218 a$=INKEY$(-1)

228 IF a$=="c" OR a¥$=="d" THEN EXIT inmode
230 END REPeat inmode

248 PRINT 'at

258 REFeat instart

ZhB INPUT "Start,address?,{Use,'$ ,tosindicate,hexadecimal}®ihé
278 start=number (04}

288 IF start>=@ THEN EXIT instart
298 END REPeat instart

300 REPeat infin

I1@ INPUT "Finish,address?, (Use ENTER,to,carry,on,for,ever}
328 IF c#="" THEN c$="4FFFFF"

338 finish=number{c$)

348 TF finish»=8 THEN EXIT infin
258 EMD REFeat infin

368 IF a$=="c" THEN

378 disassemble start,finish

88 ELSE

190 SCROLL -18@

4p@ CURSOR @,1598

418 FOR i=start T0 finish STEP 32
428 PRINT hes5$(i)';

438 FOR j=1 10 i+31
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446
458
458
478
450
498
sae
a1
528
338
548
358
a6l
a7e
388
398

608
61d
628
638
648
658
abd
678
658
&98
ioe
718
728
738
746
758
74D

778
788
798
poe
gig
8z8

FRINT hexcon${jl;

END FOR

SCROLL -1@

CURSOR 39,198

FOR j=1 70 i+31

IF PEEK(j1<>18 THEN
PRINT CHR$(PEEK(j)}!;
ELSE

PRINT ®y3%;

END IF

EKD FOR j

PRINT

IF INKEY$=="c" THEN NEXT display
END FOR i

END IF

END REFeat display

DEFine Fulction nuamber (a$)

LOCal 1,5,k

IF a#="" THEN RETurn -1

IF a${1)5="0" AND a$(1)<{="9" THEN RETurn a$
IF a${1}<>"$" THEN RETurn -

i=@

FOR j=2 T0 LEN{a$)

k=CODE{a${i}}

IF k»=CODE{"a™) THEN k=k

SELect ON k

=CODE("@"} 7D CODE("9"):1=1%14+k-CODE("B")
=CODE("R&") TO CODE("F")si=i1#1h+k-55
=REMAINDER :RETurn -1

END SELect

END FOR i

RETurn i

tHD DEFine

DEFine FuMction hexS#ia)

LOCal i,a$

mwu: "

FOR 1=4 7O @ STEP -1

af=atbhex$ {INT(a/ 161 ) - 1A% INT (a/ 16" Li41))
END FOR 1
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BS@ DEFine Fulction h =1aqm al
BAB RETurn hex$(FEEK(a)DIV 151khexd
678 END DEFine
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1958 DEFine FuNction adri(m,j,pc)

1978 LOCal k,a$

{768 type=n

199@ reg=j

7008 SELect ON type

2018 =@:RETurn "D"%reg

2028 =1:RETurn "“A"breg

2038 =2:RETurn "{A"kregk®)"

Z048 =3:RETurn "{A"kregk")+”

2858 =4:RETurn "-{(A"4reghk"}"

2868 =5:pc=pc+Z:RETurn "$"Yhexcond {pc-2)&hexcon$(pc-10%" (A"kregk™)"

2078 =L:k=PEEK{pc):pr=pctl

2880 a$="$"khexcon$ (pc-134" (A"kregh","

2098 RETurn afkindex$ik)

2188 =7:5ELect ON reg

2112 =B:pc=pc+2:RETurn "$"%hexcon$ (pc-2)khexcon$(pc-1)

2128 =l:pc=pc+4:RETurn "$"%hexcon${pc-4)&hexcons pc-3ykhexcons (pc-2)
khexcond (pc-1)

2130 =2:pc=pc+2:RETurn "$"%hexcond (pc-2&hexcon$ (pc-10%" (FC)=$"Yhex5
$pc-2+256¥PEEK (pc-2) -PEEE (pc-2) DIV 12B%65534+PEEK (pc-11)

2148 =3:k=PEEK{pc)ipc=pc+2

2138 a$="§"%hexcon$ {pc-11&"(PC,”

2168 RETurn a$kindex$ (k)

2178 =REMAINDER :fault=1:RETurn ""

2180 END SELect

2198 END SELect

208 END DEFine

2210 DEFine FuNction index${k)
2228 L0Cal a¥

2238 IF k{128 THEN

27248 a$="D"

7258 ELSE

2250 a%="p"

2278 END IF

2280 as=a%h(k MOD 128 DIV 14)
2298 IF k WOD 84@ THEW fault=1:RETurp ""
2382 IF k MDD 14=@ THEN

2310 RETurn afk".W)"

2320 END TF

2338 RETurn afy".L)"
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2740 END DEFine

2330 DEFine FuNction dis@#(pc)

2360 LOCal i,a¢

2378 i=PEEK{pc)

7380 IF i MDD Z=@ AND i<B THEN

2398 IF © DIV 4 MOD 2=1 THEN IF PEEK(pc+{] MOD &4=bB THEN fault=1:RE
Turn *"

2408 a$=imm$(pc):IF fault THEN RETurn °°

2410 SElect ON 1

7420 =B:RETurn "OR"ka${1 TO 2)&","ka$(3 TO

2438 =2:RETurn "AND"%a$

2448 =4:RETurn "SUB"%a$

2450 =b6:RETurn “ADD"ka$

2460 =1B:RETurn "EOR"ka$

2478 =12:RETurn "CHP*ka$

248D =REMAINDER :fault=1:RETurn ™"

2498 END SElect

2500 END IF

2518 IF PEEK{pc+l) DIV B HOD B=1 THEN

2520 IF i=8 THEN fault=1:RETurn **

2538 a$="MOVEP"

254@ IF PEEK(pc+i} DIV o4 MOD 2=8 THEW

2550 ag=atlt W,"

2560 ELSE

2578 af=afk . L,"

2588 END IF

2398 pc=pctd

2680 IF PEEK(pc-3) DIV 128=0 THEN

2518 RETurn a$%"$"khexcon$ {pc-2)khexcond (pc-114* (A" {PEEK (pc-31MOD 8
V&") DR (PEEK {(pc-4)DIYV 2)

7678 END IF

2538 RETurn a#&"D"R(PEEK (pc-4)DIV 2)%",$"khexcon$ {pc-2) khexcondipc-t
V& {A"R{PEEK (pc-3) MOD 83%")"

2648 END IF

2658 i=PEEK({pc+l) DIV &4

26568 IF PEEK(pc+!) MOD 64:=58 THEW fault=1:RETurn ™"

2678 SELect ON i

2680 =B:a$="RTST"

2698 =1:a$="BCHE"

2780 =2:3%="BCLR"
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1

@ =3:a8="BSET"

mwmm END SELect

2730 i=PEEK{pc+1) HOD &4

2748 af=atl "

2758 IF § DIY 8=1 THEM fault=1:RETurp *"
2758 1F PEEK{pc)=8 THEN

2778 IF PEEK(pc+2)4:@ THEN fault=1:RETurp *°
2738 a$=a$k"$"LPEEE (po+d)

2798 pc=pctd
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ELSE

2 a$=asl D MIPEEK (po)DIV 2
a

pc=pe+l

END IF

RETurn a$%",“kadr$(i DIV B,1 MOD 8,pc)
END DEFine

2848 DEFine Fulction imm${pc)

2870 LOCal i,j,a8

2880 i=PEEK(pc+1) MOD 64

2898 j=PEEK{pc+1} DIV &4

2900 SElect ON |

2918 =B:a%=". m...wm:rrmxmonwﬁvm+mw"umuﬂn+»

2920 IF PEEK(pc-2)<3@ AND PEEK{pc-2)
2938

3 THEN fault=1:RETurn *°
nm"wmn=.z...smzm:mxnosnHun+mvm:mxﬁo=mﬁun+uv

2940 po=pro+d
2950 =Z:a$=",Ls..¥$"khexcon${pc+Z) khexcon$ (pc+3)khescond (po+d) khexco

nfinc+3)

2960 pr=pcth

2978 =3:fault=1:RETurn **

2788 END SElect

2998 IF i=48 THEN RETurn a$%",SR"

3028 IF 1 DIV 8=1 OR 13=58 THEN fault=1:RETurn **
Q1@ RETurn a$h" “kadr${i DIV 8,1 WOD 8,pc)

3028 END DEFine

@38 DEFine FuNction disd$ipc)
1048 LOCal i,i,k,a%,b¢

3850 IF PEEX (pc)WOD 2=1 THEN
3p&R 1=PEEK (pciDIV 2 WOD B
3870 IF PEEK(pc+1)<{192 THEN
1280 a$="CHE, 444"
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IF PEEK{pc+ii=188 THEN

pe=pctd

RETurn a$%"#3"khexcon$ipc-2) bhexcond{pc-11&",D"4
EMD IF

pr=pc+2

j=FEEK{pc-11HOD &4

IF PEEK{pc-1}{128 OR j DIV B=1 THEN fault=1:RETurn **
RETurn a$ladr$(i DIV 8,1 HOD B,pc)&",D7Ei

END IF

pr=pc+?

=PEEK {pc-11HOD A4

IF i<=153 OR (j»=24 AND j{=3%}
RETurn Jrﬂbu.—b».—srwnﬁm_..“ DIV 8
END IF

i=PEEK (pc} MOD 16

prepr+l

i=PEEK (pc-1} DIV &4

k=FEEK (pc-1) MOD &4

IF 1414 AND ¥ DIV 8=1 THEM fault=1:RETurp "*
SELect ON i
=@:3ELect ON i
=Qraf="NEBY.Ey,"
=1:a$="NEBY. ¥;,"
=2:38="HEBY. L,,"
=3ra$="MOYE,,445R,"
END SElect

IF k»=58 THEN +ch
RETurn afladr${ k D
=7:5Elect OW i
=@:a$="CLR.B*
={:a§="CLR.W"
=Z:a$="CLR.L"
=3:fault=1:RETurp "
END SEle

IF k>=38 THEN fault=1:RETurn **

RETurn a$%",,,"kadr${k DIV B,k WOD B,pc)
=4:5ELect ON ]

=3:IF k=5B qux

IF PEEK(pc){}@ THEN fau
pc=pct?
a$="#¥"%khexcon${pc-1)

THEN fauit=1:RETurn "*
8,1 HOD B,pc)¥&" A"%1

{1sKETurn *"
Y B,k MOD B,pc)

tt=1:RETurn "*
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3509
Jole
3528
1538
1548
3550
3360
3578
3380
3590
3680
ibld
3620
3638
3648
3658
3660
1678
3680
1690
I700
3718
3778
3738
3740
3758
3750
3778
3788
1798
inde
3818
i82e

3838

ipae
3850
1840
3878
ig8e

ELSE
a$=adr${k DIV B,k MOD B,pc)
END IF
RETurn =35<m>»>»-rm“mw=‘ﬁnm=
=@:a$="NEG.B"
=1:a$="NEG. K"
=Z2:a$="NEG.L"
END SELect
IF k=58 THEN fault=1:RETurn "*
RETurn a#%”,,,"kadr$(k DIV B,k HOD B,pc)
=h:5ELect ON ]
=3:IF k=b@ THEN
a$="#$"Lhexcon$ (pc)khexcons$ (po+l}
pcEpc+Z
ELSE
af=adr$(k DIV B,k MOD B,pc)
EWD IF
RETurn "MOVE,.,,"%a$k",SR"
=@:a$="N0T.B"
={s1a$="NOT. 4"
=Z21a$="NOT.L"
END SElect
IF k»=38 THEN fault=1:RETurp "®
RETurn a$&",,,"kadr$(k DIV B,k MOD B,pc)
=8:5ELect OW
=@:IF k>=58 THEN fault=1:RETurn "
RETurn "MBCD,,.,"hadr$(k DIV B,k WOD 8,pc)
={:IF k<B THEN RETurn "SWAF,,.,D"kk
IF k¢=13 OR (k>=24 AND k<=39) THEN fault=1:RETurp *"
RETurn "PEAsiasa"kadr$(i DIV B,k MOD 8,pc)
=Z:5ELect ON k
=@ TO 7:RETurn "EXT.W.a,D%%k
=32 TO 39:RETurn “MOVEM.W,"kregmaskpredect (pc)d™ - {A"k{k HOD 8)
~I
=16 T0 23,48 TO 57:RETurn "MOVEM.W,"kregraskpostinc${pc)&®,"%ad
rg{k DIV 8,k HOD 8,pci
=REMAINDER :fault=1:RETurn "*
END SELect
=3:8ELect ON k
=@ 70 7:RETurn "EXT.L...0"%k
=32 TO 39:RETurn °MOVEM.L,"Yregmaskpredecs (pc)d",-(A"&{k HOD 8)
gy
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I89@ =16 TO 23,48 T0 S7:RETurn *MOVEM.L,"kregmaskpostinc#lipcid®,"had

rlk DIV 8,k HOD &,pc)
3908 =REMAINDER :fault=1:RETurn **
3918 END SElect
3928 END SElect
3930 =1@:5ELect ON ]
3940 =B:a$="TST.E"
395€ =1:a$="TST.W"
3968 =2:a$="T5T.L"
3978 =3:a¥="TAG,,"
3988 END SElect
399@ IF k=58 THEN fault=1:RETurn **
4308 RETurn a$b",,,"%adr$(k DIV B,k MOD 8,pc)
4R18 =12:1F j{2 ORK k{16 OR k DIV B=4 THEN fault=1:RETurn *°
iB28 af=regmaskpostinc#ipc)
4938 IF j=2 THEN
4248 bi="W,"
4232 ELSE
4268 be="L,"
4878 END IF
4888 RETurn "MOVEM,"Yb$kadr$(k DIV 8,k WOD B,pcl&”,"ka$
489@ =14:RETurrn disdE${pc, i,k
4180 END SELect
4118 END DEFine

4128 DEFine FuNction regmaskpostincé(pc)
4130 LOCal a$,d%,i,]

4148 a=""

4158 j=PEEK(pC!

4160 FOR 1=8 T0 7

5178 1F j DIV 2%i MOD 2Z=1 THEN a$=afk"A"%i
4188 EKD FOR i

4198 compress a$

4780 d§=""

4219 pe=pe+?

4728 j=PEEK{pc-1}

4278 FOR i=2 70 7

4740 1F § DIV 2°1 HOD Z=1 THEN d$=d$%"D°4i
4258 END FOR 1

4260 compress d$

4278 RETurn combined(d$,a$)
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4268

4298
4%ae
3iie
4320
4330
4348
4350
4358
4378
4380
4398
448
44i@
4428
4430
5449
4430

4468
4478
LI
4490
4508
4518
a2
4538
o240
4558
43568
4578
4580
578
ft00
4618

4628
4630
4548
4558

END DEFine

DEFine FuNction regmaskpredecs(pc)

LOCal a$,d$,i,;]

&M"-

J=PEEE (pc)

FOR i=@ 10 7

IF j#2*1 DIV 128 MOD 2=1 THEN d$=d$%"D"%i
END FOR i

compress d$

ag=""

pr=pc+?

j=PEEK {pc-1)

FOR i=8 70 7

IF j#2%1 DIV 128 MDD Z=1 THEN a$=a$i"A"ki
END FOR i

compress a¥

RETurn combinef(d$, af)

END DEFine

DEFine PROCedure compressia$)

LOCal i,

i=LEN{a%)

SELect ON i

=@ TO Z:RETurn

=hraf=a${l TD 234"/"%a$(3 70 4):RETurn
=REMATHDER

FOR 3=2 70 i-4 STEF 2

IF af{ji+i=a$(j+2) THEW

IF a$lii42=a${j+4) THEN a${j+1)="-"
EWD IF

END FOR

127

REPeat juggle

IF j¥LEN{a$) THEN RETurn

PEoak (13- THEN a$=a#(1 T0 j-1)&"/"%a$(j T0):j=i+3:NEXT jugg
le

IF a$(j+2)="-" THEN a$=a$(1 TO j-1)%a$(i+2 TOV:NEXT juggle
af=afil TO jika$ij+2 TD

wuu+w

END REPeat juggle
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END SELect
END DEFine

DEFine FuNction combined (df,a$)
IF d$="" THEN

IF a$="" THEN fault=1:RETurp "*
RETurn a$

END IF

IF a$="" THEN RETurn d$

RETurn d$k"/"ka$

EWD DEFine

DEFine FuNction disd4E${pc,i,k)

IF j=@ THEW fauit=1:RETurp *®°

IF 331 THEN

IF k{=15 OR (k>=24 BND k{=39) THEN fault=1:RETurn *"
IF j=7 THEN RETurn "JSR,,ass"badr$ik DIV 8,k MDD 8,pc!
RETurn "JMPyasaa"kadr$ik DIV 8,k HOD 8,pc)

END IF

SElect ON &

=@ T 15:RETurn "TRAP, .. 8§ khexd k)

=14 T0 Z3:ipc=petl

RETurn "LINK,, . A"%(k KOD 8)&" #$"%hexcond (pc-2) khexcon$ (pc-1)
=24 70 3{:RETurn “UNLK ., .A"%{k HOD B)

=32 TO 39:RETurn "MOVE, ... A"&{k WOD B)&“, USP®

=48 TO 47:RETurn "MOVE,,..USP,A"%(k HOD 8)
=48:RETurn "RESET®

=49:RETurn “MOF"

=5B:pc=pc+l

RETurn "STOP ... 8¢ khexcon$ipc-Z)khescon${pc-1)
=51:RETurn “RTE"

=53:RETurn "RTS®

=54:RETurn *TRAPY®

=35:RETurn "RTR"

=REMAINDER :fault=1:RETurn *°

END SElect

END DEFine

DEFine Fulction dis7${pr)
IF PEEK{pcIMDD Z=1 THEM fault=1:RETurn "*
pr=pr+z
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5048 RETurn "MOVEQ,,,#3"Xhexcon$ (pc-1)&" D"X(PEEK (pc-2)DIV 2 MOD B) S410 IF a$="T," THEN
5850 END DEFine 5470 as="RA"
5430 ELSE
5B&8 DEFine FuNction disS$(pc) 5448 a¥="GR"
Se78 LOCal i,j,a$ 5458 END IF
SBE@ i=PEEX (pciMOD 14 5462 END IF
3098 J=PEEK (pc+l) 5478 IF j¢>B THEN RETurn "B"%a$%".S,..$"hexcon$ (pc-1)&" (PL)=¢#"khey5
3180 pc=pct2 $lpc+i-i DIV 1282256
5118 IF j<192 THEN 5488 pe=pctl
3120 IF i MOD 2= THEN 5498 RETurn "B*La$d",....$"bhexcon$ipc-2) khexcond (pc-11&" (PL)=§"khex
3130 a$="ADDD." 5% (pc-2+2564PEEK (pc-2) -PEEK (pc-2) DIV 12B#65534+PEEK (pc-11)
3140 ELSE SEG8 END DEFine
5158 a$="5uBQ."
5168 END IF 5518 DEFine FuNction con$ii)
5170 IF j MDD b4=58 THEN fault=1:RETurn ** 5528 SELect ON i
5188 IF 42 THEN i=14 5538 =@:RETurn °T,"
5198 SELect ON j 5548 =1:RETurn "F,"
5288 =8 70 15:fault=1:RETurn ** 5558 =2:RETurn “HI"
5218 =@ T0 63:a$=ash"B" 5568 =3:RETurn "L5"
5228 =b4 TO 127:a%=a$l"W" 5570 =4:RETurn *CC"
5230 =REMAINDER :a$=a$h"L® 5588 =5:RETurn "CS"
5248 END SELect 5598 =4:RETurn "NE"
5258 RETurn a$",,#"%{i DIV 2)4","kadr$(j DIV 8 MOD 8, MOD B,pc) 5680 =7:RETurn "EQ"
5268 END IF 5618 =8:RETurn "VC*
5278 IF j DIV 8 MOD 8(>1 THEN 5628 =9:RETurn V5"
5288 IF §5=250 THEN fault=1:RETurn "* 563@ =1@:RETurn "PL"
5298 RETurn "S"con${il&",u..."kadr§(j DIV B MOD 8,j MOD B,pc) 5648 =11:RETurn "MI"
5300 END IF 5658 =12:RETurn "GE*

S658 =13:RETurn ®LT"
3678 =14:RETurn "GT°
5588 =15:RETurn "LE"
3698 END SELect
5708 END DEFine

3318 pe=pril

5328 RETurn "DE"kcon${idh" ., 0"%(3 WOD BY&",$"Yhexcont (pc-Zi khexcon
$lpo-11 47 (PCY=$"Yhen 3% (pc-2+256#PEEK (pc-2) -PEEK (pc-23 D1V 12845
SI6+FEEK (pr-11)

5330 END DEFine

5348 DEFine FuNction disé$(nc) 5718 DEFine FuNction dis9${pc):RETurn "SUB*kdis9orD${pc):END DEFine

3330 LOCal i,1,a%

536@ 1=FEEK{pcIMOD 14

5370 j=PEEK{pc+l)

5728 DEFine Fulction disD${pc):RETurn “ADD"%kdis%orD$(pc):END DEFine

3388 pr=pc+? 5738 DEFine Fulction disforDé#{pci
3398 a$=con$li) 5748 LOCal i,i,k,af
3580 IF a$(Z)="." THEN 5758 i=PEEK{pc)HOD l&
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5768
5778
5788
a79e

LA oenocn CLnocn

n
[o=)
4
L=

5882
3898
a9ae
3918
3922
3930
3948
3950

3568
3978
5958
3998
tEan
5018
6822
&858
bB4d
6038
5068
5278
5688
6870
6138

6118
6120
5138
5148

i=PEEK {pc+l} DIV 64

k=PEEK (pc+11HOD 64

ne=potl

IF 1 MOD 2=@ THEN

SElect ON 3

=3:IF k=h@ THEN

pr=po+?

RETurn *. 8., 8% khexcon$ (pc-2) khexcond (pc-11 %", A% DIV 20
ENE IF

RETurn ".Wa,,"kadr#ik DIV B,k MOD B,pcid",A"%0i DIV 2)
=R:af=".B"

={iaf=". Q"

=2ra$=".L"

END SELect

RETurn a$%",,,"%adr${k DIV B,k MOD B,pc)&®,D°%(1 DIV 2)
EWD IF

SELect ON j

=3:IF k=b@ THEN

pc=pctd

RETurn ".L.. 8% "khexcon$ (pc-4) khexcond$ (po-3) khexcon$ {pc-21 khexc
onfipc-1)E" ARG DIV 2)

END IF

RETurn *.L.s."kadrélk DIV B,k MOD B,pcid® A"%{1 DIV 2)
=Qra$=",B"

={iaf="@"

=2:a$=",L"

END SELect

IF k{8 THEN

RETurn "X ka$k" D &k:",0°k00 DIV 2)

END IF

IF k<ib THEN

RETurn "X"ka$&" - (A" (k-B)%") - (A"R11 DIV 23%")°

EWD IF

IF k»=58 THEN fault=1:RETurn **

RETurn a$d®,,,0°8(1 DIV 2)%%,“kadr$(k DIV 8,k MOD B,pc)
END DEFine

DEFine Fulction dis@%{pc)
LOCal 1,3,k,a$

i=FEEK {pcIMOD 164

j=PEEE (pc+11DIV 64
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6158
6148
4178
bi6@
6190
6228
6218
6228
6230
6248
6238
6260
hZ78
6288
529@
Lio@
6318
6329
£330
4340
6358
6358
4378
4388
£390
4400
L4180
5478
6438
5448
6458
LLEE
6478
6430
6498
4580

6318
6320
6538
5348

k=PEEK {pc+1IHOD &4
pe=pr+?

IF i WOD Z=8 THEN

IF k DIV B=1 THEN fault=1:RETurn "

SELect ON j

=3:1F k=h8 THEN

prepet?

RETurn "DIVU,, 4, #5"khexcon$(pc-2) khexcond (pc-13%" ,D"R{D DIV 20
END IF

RETurn "DIVU, 4., "kadr$ik DIV B,k NOD 8,pc)®", D" DIV 2
=@:a$="0R.B"

={1a$="0R.W"

=2:a$="0R.L"

END BElect

RETurn a$k" gy, badr$ (i DIV B,k MOD 8,pc)%",D°&(1 DIV 2)
END IF

SELect ON j

=3:IF k=58 THEN

pc=pot?

RETurn "DIVS, . 8%"khexcond (pc-2)khexcond (pc-1047, D780 DIV 2)
END IF

IF k DIV B=! THEN fault=1:RETurp **

RETurn "DIVYS, ... "kadrdlk DIV 8,k HOD 8,pc)®&®,0°%{1 DIV 2)
=@ 1F k(B THEN

RETurn ®SBCD, .., D"%kE",D"%(1 DIV 2)

END IF

IF k<14 THEN

RETurn "SBCD,, .- (A*EGE-BIE") - (A"%(1 DIV 2)&")"

END IF

a$="0R.B"

=izaf="0R.W"

=Z:a$="0R.L"

END SELect

IF k416 OR k>=58 THEN fault=1:RETurn "*

RETurn a$k" .., 0040 DIV 204" "Yadr$(k DIV 8,k MOD 8,pc)
END DEFine

DEFine Fulction disB{pc)
LOCal 1,],k,a¥

i=PEEK (pc)HOD 14

J=PEEK {pc+11DIV b4
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5832
6848

4838
LELY
5378

@ k=PEEK (pc+1)MOD &4
pC=pct?

IF 1 MOD 2=0 THEW
SELact ON j

=3:IF k=6@ THEH
pcepc+l

RETurn "CMF.W,,,8$"thexcon$ (pc-2)khexcons {pc-134" A" (i DIV 2)

END IF

RETurn "CMP.Wy.."kadr${ k DIV B,k MOD B,pc)&*,A"%{i DIV 2)
=@:1F & DIV B=1 THEN fault=1:RETurp **

af="CHP.B"

=lra$="CHP.¥"

=2ra$="CHF.L"

END SELect

RETurn a$",,,"%adr$(k DIV B,k MOD B,pc)&™,D"%(i DIV
END IF

SElect ON j

=3:1F k=60 THEN

pc=pc+d

RETurn "CMP.L. .. #$"%hexcon$(pc-4) khexcon$ (pc-3) khexcon$ {pc-2) kh

excond {pc-11&" A"R(1 DIV 2)

END IF

RETurn "CHP.L,.a"hadr$ik DIV 8,k MDD B,pc)&",A"k(i DIV D)
=0:a$="8"

=lia$="§"

=21a$="L"

END SELect

IF k=38 THEM fault=1:RETurp "*

IF & DIV B=1 THEN RETurn "CMPM."%a$%"
21540

RETurn "EOR. *ka$k",,,D"%i DIV 2
END DEFine

DEFine mczﬁﬁwgs disCHipc)
LOCal 1,i,k,af
Mnnmmrﬁun.on 14
J=PEEK{pc+l) DIV b4
wummmw_mn+uw HOD A4
pepctl
IF i MDD Z=8 THEN
IF k DIV 8=1 THEW fault=1:RETurn "
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s (R R LR-B2& )+ LA DIV

&', "kadré(k DIV B,k HOD B,pci

7238
7268
1278
7288
7298
7iee
73ie

-
732

SElect OW j

=3 IF k= om THEN

po=pc+s

RETurn "MULU; ., 88 %hexcon${pc-2) khexcon${pc-134", D04 DIV
END IF

RETurn "MULU,, 5, "%adr$(k DIV B,k HOD B,pc)&",D"%(1 DIV
=@:a$="AND.B"
={:a$="AND.W"
=Zza$="AND.L"

END SELect

RETurn af%", ., "kadr¥ik DIV
END

SElLect DN j

=B:1F &{B THEN RETurn "ABCDg, 0°%ER", D800 DIV 20

IF k<14 [HEN RETurn “ABCD..aa-A%RIK- mv«mw_-mp=w_w DIV Zi&"
a¥="AND, B"

F k{B THEN RETurn "EXB,4,,,0"%0(i DIV 218", DV%K

16 THEN RETurn "EXBiacacR"R0D DIV 2087 A*R{K-B)
"AND, W

MOD 8,pc)d®, D"t DIV

H

sl
F

et

a$=

=2:IF k4B THEN fault=1:RETurn *¢

TF k416 THEN RETurn "EXBasasaD"%(1 DIV 23%% A"K(k-8)
af="fNDL"

=31 1F k=5@ THEN

preprtl

RETurn "MULS ;.. 88 "khescond$ (pr-2)khescond (po-13%",D"% (1 DIV 2
END IF

IF k DIV 8=t THEN fault=1:RETurp ™"

RETurn "HULS, ., "kadr${k DIV B,k WOD B,pci&" ,D"%(i DIV 2)
END SElect

IF k=38 THEN fault=1:RETurn "*

RETurn a#&", D"k DIV Z21R","kade${k DIV B,k MOD B,po)

END DEFine

DEFine mmznﬁmas disE${pc}

LOCal i,3,k,af

unmmmwnun HOD 1&

j=FEEK (pc+11DIV 64

k=PEEK {pc+1IMOD &4

pLEpC+?

SElect OH j

=3:1F k{14 OR k3=538 THEN fault=1:RETurn *°
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7338 RETurn shi#t$(*,,",i)kadr$(k DIV 8,k HOD 8,pc)

7348 =D:a¥=".B"

7358 =lrag="@"

7368 =Zraf=" Lt

7378 END SEtect

7IBE i=k DIV B HMOD 4#2+ MOD 2

7398 IF k432 THEM

7428 IF 1{Z THEN i=14

7418 RETurn shiftf{a$, 1% "#"%0 DIV
7420 END IF

7438 RETurn shift$(a%, )% D k(i DIV
7448 END DEFine

7458 DEFine FuNction shift${a$,n
7463 SElect OM 5

7478 =0:RETurn "ASR"%afk"..,"
7480 =1:RETurn "ASL°ka$h",,."
7490 =2:RETurn "LSR"%a$d",.."
7508 =3:RETurn "LSL"ka$h",,,"
7518 =4:RETurn "RD¥R*ka$k®,,"

528 =5:RETurn "RONL°%a$%",,"
7538 =5:RETurn "ROR"%a$d",,.."
7548 =7:RETurn "ROL“%a$k",,,"

7558 =REMAINDER :fault=1:RETurn **
7562 END SELect
7578 END DEFine
7588 REMark - End of Disassembler

28" DRk MOD B

23%", D%k MOD B)
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